Year 5 Maths 5-a-day 29/06/20

Monday-5 a day

5122 - 1,301

9= 73

Diraw e B 13218 on the clock Tacs
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Find the missing multipkes

numbars feomm f 1o £3

rmumberns from B o 58

risrmbeas e 100 ke 198

00 ®

Find the bwo messing digits in this
mulliplication
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6 5




Year 5 Maths 5-a-day 29/06/20

Tuesday- 5 a day

—350 = 1,868

F.-li-.' 4

Draw a parallslogram

This graph shaws the temperature in four What s (e Erperature i Lincaln?
cilies an oné day in December

Irywre=-1Trr

: LI Haw much warmer i e Emperalung in
Lircaln han Bath'?

Lamdy kxth L Limonin




Year 5 Maths 5-a-day 29/06/20

Wednesday- 5 a day

269 x 7

|
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The 1ale shows the esulbs alf Lesds,
Bahlon and Cadill faothall clubs.

Each win = worth 3 paints, a draw is worth
1 panl and no parnls ar a bss,

.'i'l.'-:n :E:'rnl.'.l .Ln:|r.l
s | 1 |2 | 1
Bollen | 2 | 4 | 1

cartif | 3 | 0 | 4

Which team scored the most ports?

Whal fracton of their malchas did Balion
win'?

Erin and Macomi cufl grass.
Erin gets E27 and Maomi gebs Fd4

They share whal they g equally between
them.

How much does aach of them get?




Year 5 Maths 5-a-day 29/06/20

Thursday- 5 a day
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— of 60

Ciawid diwes 4 8 miles o Brishal and &
further 6.7 miles 1o Balk.

Wiark oud haw Tar be driees in fobal,

Ashiay buys three pens, each at the same
priE.

He pays with a £10 note and geds £5.80
change.

Whal iz ke cozl of one pan?

Wiark oud the difference in heghl betwesn
the Mol Blanc and the amallest mowlsn
in e fakke,

Mountoimn
dant Blanc

Bery Mevis

Carrauntao hdl

Mourt Wancoweer

Haight
& BN meEires
B339 mElres
1038 metres

4 Bl metres




Year 5 Maths 5-a-day 29/06/20

Friday- 5 a day

7.2-10.6

11 x 11

A Song lasts F minuies 54 seconds.

How long does the song last in seconds?

2lcm

Wark out the perimeler of the rectangle

By 10am,
A7 cars had lefl e car park
251 cars had anterad the car park

Al Sarm, thére wers 812 cans n & car park.

Haw marny cars ané there in e car park &l
10am ¥




Year 5 Maths 5-a-day 29/06/20

Monday- 5 a day ANSWERS

5,122 - 1,301
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Draw the time 13:15 on the clock face % me,
< s
s L?!H
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Find the missing multi .
ples [Wsm1bd9} mmpeorto@
[Tqmmmsouso it {60 )t €O
[mmmmvooaous e mo)
Find the two missing digits in this
multiphcation. 3
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Year 5 Maths 5-a-day 29/06/20

Tuesday- 5 a day ANSWERS

SIZ 4%

4%

—-350 = 1,868

Draw a parallelogram

£ #

This graph shows the temperature in four
cities on one day in December
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What is the temperature in Lincoin?

L6

How much warmer is the temperature in
Lincoln than Bath?

lO'C




Year 5 Maths 5-a-day 29/06/20

Wednesday- 5 a day ANSWERS

269 x 7 . + l . % l
5 5 5
269
x 3
| '53 3
3¢
139 3 5
The table shows the results of Leeds, Which team scored the most points?
Bolton and Cardiff football clubs.
i e e Bolton.
Wmvr—wrw
eds |1 |5 |1 [=Q
i What fraction of their matches did Bolton
Baton | 2 |4 |1 =|O o
il 7 3
Casdit 3 0_J4 J-*‘I o I8
Erin and Naomi cut grass.
Erin gets £27 and Naomi gets £44 Gy =T

They share what they get equally between HE) = 35.8

How much does each of them get? ﬂSS.S‘O




Year 5 Maths 5-a-day 29/06/20

Thursday- 5 a day ANSWERS

233F m

23rd April
2
! = of 60
3 o/ 3
¥\25
-:31!1'8.2
JLIE %qéo =
29973 40
David drives 4.8 miles to Bristol and a
further 6.7 milles to Bath.
Work out how far he drives in total
|- Suday
wmmm-mhnhm
| lo-S.80= &% 2O
He pays with a £10 note and gets £5.80
' 4w L3 =
What is the cost of one pen? |. 40
240
Work out the difference in height betwoen || mo e T L
il Mont Blonc | 4,809 metres
- 103% _BenNevis | 1,334 matres |
TIF _Carrountochil | 1 p;g.?,,{,i
Mount Vancouver| 4 812 metres




Year 5 Maths 5-a-day 29/06/20

Friday- 5 a day ANSWERS

7.2—-0.6 1 CEL

66 12 |

A song lasts 2 minutes 54 saconds.

How long does the song last in seconds?

AX60 * M |Fggec

6cm Work out the perimeter of the rectangle
&)46 404 6
c Sdem

20cm

At 9am, there were 612 cars in a car park. | How many cars are there in the car park at

10am?
:;;aorasmr;adbﬁmemrpark 6'&'3?*23(

251 cars had entered the car park
=336




